Soustraction Avec Des Zéros (D)

1000
- 830

1000
- 32

1000
- 804

1000
- 405

1000
- 632

1000
- 669

1000
- 560

Calculez la différence.

1000 1000
- 382 -39
1000 1000
- 509 - 869
1000 1000
- 552 - 697
1000 1000
-739 - 831
1000 1000
- 305 - 678
1000 1000
- 952 - 369
1000 1000
-430 -18

1000
- 746

1000
- 398

1000
- 935

1000
- 468

1000
- 441

1000
- 741

1000
-937
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Soustraction Avec Des Zéros (D) Réponses

1000
- 830

- 382

170

1000
-32

- 509

968

1000
- 804

- 552

196

1000
- 405

-739

595

1000
- 632

- 305

368

1000
- 669

- 952

331

1000
- 560

-430

440

Calculez la différence.

1000
- 746

254

1000
- 398

602

1000
- 935

65

1000
- 468

532

1000
- 441

559

1000
- 741

1000 1000
-39

618 961
1000 1000
- 869

491 131
1000 1000
- 697

448 303
1000 1000
- 831

261 169
1000 1000
- 678

695 322
1000 1000
- 369

48 631
1000 1000
-18

570 982

259

1000
-937

63
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